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3 Prasenzblatt vom 01.11.12

Aufgabe 3
i) alalaiagag = alalai(égg — agag) = alala]; — alalaJ{a;ag
=a(l— aJ{al) —a1(1— aial)a;ag =a; — alaJ{al — alagag + alaialagag
=a; —(1-— a];al)al —(0— agal)az +(1- aJ{al)(O - G;;al)CLQ
=a; —aj + aJ{alal + agalag + a{alagalag — agalag

= aialal + agalag — agalag + a]i(O - a;al)alag

.|>
=aja1a1 — aia;alalag

=< 0lalaia; — alabaraias|0 >=< 0lala1a,]0 > — < 0lalalaiaraz]0 >=0
ii) alagagai =a(1-— agag)ai = a1aJ{ — am%azai
=1- aJ{al — (0 — agal)(O — aJ{ag)

=1~ a];al — agag + a;aJ{alaQ

=< 0|1 —alay — abag + abalajas|0 >

=< 0[1/0 > — < 0lala1|0 > — < Olabas|0 > + < 0labalaias]0 >=1

Zusatzaufgabe
[fv N] = Z fm,n[azaiaa;rnan]
2,M,Nn
= Y funlal [ai,al, )y an — [af,al, ] asan + ahual ai, ] —al [af, an]y ai)
= Z fm,n(a;‘ranémi - ajnai(sni) = Z fm,n(a;rnan - ajnan) =0
7,mM,N m.mn
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